Wtadystoawa Jagietty
0+140.000

0+136.645

Wtadystawa Jagietty

%195

?94
194

3

N~

CcCLol 1Q Lol
ZI VO VOT

- 8L91£G Y6 kG v6H
-G6'G 1S V6 9GS Y6 H

- OL'G {25 VB HLS V6
- G925 B HES ¥6
- 91y 465 6 HIS V6
- YT 465 Y6 HIS V6
- OL'E 55 B HLS Y6
- 76T {95 VB HLS HBE
-007 195 ¥6HBS ¥6
- 2v'L LS VB HIS 6L

7 - 701856 HbSY6 H
| 0001856 KBS ¥6 H
m_:H Gv'0—~16G 6 DI ¥6 1
H06'0—109'v6H09'¥6

B¢ LTI V6HO9 Y6
86l —7 976 F19¥61

8C—~199 V6 LG v6H
00 E—~19976 G v6 H

o (66 G464
% 29
‘®
o
ko] =)
3z |k
1ol 5
ol= |2
Koo I N
C (0] c
> c o
(] .n_GY loY
S|y|&
n < < N < I B
' % it % B 804 BLY6+ IT.+TB : = o 2 00°L ([GY6LI/S Y6
/ [ 1 cglocvsilsve - L9'919G VIS VB
—H_ 91’9 18G V6 HEL ¥6 H F61'9 195 v6EHG V6 H
-G 1966 B9 Y6 H
F90°G 186G V6 HOG Y6 H
FC9Y 196 VO G Y6 H
FLCY 1¥SY6 1961 _lw_ L ¥1' 45576 HES Y6 H
T
F10°¢ 196 V6 £ V6K F90°C 1866 HEG Y6 H
F Y¢S Y6 Y9I ¥6H -0G°C 165 Y6 HEG Y6 H
.- | 2 - 96') 109'V6 S V6H
- 69°l 16GV6HS9V6H M L verL HoveHvsveE
MUQ/ -G6°0 196 HSG Y6 H
ov0-hoveriave
ﬁ 000196 HLI V6 WM._ 0001896 H9IG Y6 H
S —i
v& m.v FSL0—~1¥9v6HLG V6 H
b Ke
.m FGG8 L1 —199 768G V6 H
= . . .
= ST T~ {9 V6 HY9 76H £V CL9¥6HES V6l
ﬁ_r H9C—189V6HLGV6H
. Fr e —O0L Y6 9 V6
.._...“u_.“ﬁ_. 00°G 1561 :fA“_.o_J 1 08 76t
R 2 & o2
= -
o) o
© =] © >
AR AR
81 9ol 5 S|l o5
o|l= 18 o |l =18
iy ° [} @ © [}
c 0] c c ] c
S c o > c o
(2] © [0y n ko] toY
© o N © o N
O [N |x O | N |x

przekroje poprzeczne: str. 6




